
Lec 17!
Let Amen, let Aig be

det A = 5 c-igits.

A with ith cal ith row removed. There:

Ex. a b
de9 h =aletl-oldiloc/dal

= a (ei-fh) - b(di-fg) + c(dh-eg)
= whatever

# Expanding across other rows

The. we cam do it on any row
ith now to top, retain order requires (i-1) row swaps

aig det Aij

- (-1)'' ag det As; to remember:

we can do columns +00!

- (-1)'' aig det A.

Defs. Aj is the j-mines of A

Ci = C-Mits det Aig is the jj-cofactor

=-24-21331 -1 3 1)

# Induction Tomited I

=-2(-2(-8) -15))

Recall,

"ajj det Aj

If. move

Ihm.

det A = * Trick

det A =

Ex.
-easy ed

2-3 0 I
5 4 2 0

a1 0 3
22 1 0 0

3-2 a з
-2 1 0

=-22


